Quiz 3
Math 3C: Precalculus
October 17, 2019

| When you finish, please remain seated until class is dismissed

Name: So,u"'l'ol’ls PID:

Problem 1 (5 points). Let f(x) = Vx+3+7.

(a) Determine a formula for f~1(x).

‘)’ = (X):/\] +3 +7
e / ' ) />So £°6)=(y*-7)"-3

Then )/:m +7

Selve for X
)/-—7 . ﬂ)X‘f‘S

= (y-7)°=x+3
= (y-7)"-3=x

(b) What is the range of f(x)?
The (‘aﬂ%c or NEY all }’?.O, and FON = x+3 s

like W but ghifted up by 7 anl Lt by 3 <o
the- rmitge mesi be ol j27.

(c) What is the domain of f~!(x)?
The olomccm ot 10‘6(5 s the (‘ou%e o FCA/
so it s also Wl )ﬁz7_
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Problem 2 (5 points). (a) Sketch the line p(d) = 4d + 1.
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a’-’-—]*':;;\%‘,*: .\l' T

(b) Let g(d) = —2d — 11. Where do the lines p(d) and g(d) intersect? Write your
answer as a coordinate pair.

Set pld)= 70

That meess 4+ = -2 -1l
Solve Ford: Ul = 2ol =12
(ol = 12
d=-2

Pl 1o ol pla)= 42D H
“‘6 F = —%’H
7
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